

Pay Estimate Created Date: June 16, 2020

Progress Estimate Number 9		Contract ID Prime Contractor	191213-H04 Robertson Contractors,			Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,283,871.00 \$37,453.00 \$2,321,324.00
Approval Date							By User
June 16, 2020			Generated and Approve	ed (and should be cons	idered Draft) at	the Project Office Level by	chronf1
June 16, 2020		Re	eviewed and Approved (a	nd should be considere	ed Draft) at the F	Resident Engineer Level by	HILLSD1
June 17, 2020			Review	ed and Approved at th	e Central Office	Controllers Office Level by	greggd1
Original Comp	Deletion Date Current Completion Date Actual Completion Date % of Current Contract Amount						
July 1, 2	2021	July 1	2021			59.37%	

No Milestones Exist for Contract

Contract Total Pa	y For Estimate No. 9				
		This Estimate	Previous	To Date	
191213-H04					
	Total Posted Items Pay	\$275,046.88	\$1,103,219.37	\$1,378,266.25	
	Gross Item Adjustments	(\$3,854.03)	\$10,247.61	\$6,393.58	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	-		\$1,113,466.98	\$1,384,659.83	
Contract Total Pa	yable This Estimate:	\$271,192.85			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3224	0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$90.000	-10.6	(\$954.00
	0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$38.000	202.4	\$7,691.20
	0140	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$13.000	202.4	\$2,631.20
	0190	6161005	CONSTRUCTION SIGNS	SQFT	\$8.000	20	\$160.00
	0220	6161030	TYPE III MOVEABLE BARRICADE	EA	\$125.000	6	\$750.00
	0230	6161052	WARNING LIGHT, TYPE B	EA	\$65.000	12	\$780.00
	0260	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	1,133	\$566.50
	0270	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.500	530	\$265.00
	0280	6207001	PAVEMENT MARKING REMOVAL	LF	\$0.500	2,293	\$1,146.50
	0300	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$3.000	371.6	\$1,114.80
	0320	7250418			\$45.000	77	\$3,465.00
	0350	7250436	36 IN. PIPE GROUP C	LF	\$62.000	189	\$11,718.00
	0680	2169901	MISC.Removal of Existing Superstructure	LS	\$15,000.000	0.25	\$3,750.00
	0690	7034212	SLAB ON STEEL	SQYD	\$445.000	140	\$62,300.00
	0710	7040101	SUBSTRUCTURE REPAIR (FORMED)	SQFT	\$350.000	10	\$3,500.00
	0730	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	LB	\$2.250	28,030	\$63,067.50
	0750	7129901	MISC.Galvanizing Structural Steel	LS	\$18,000.000	1	\$18,000.00
	0760	7161002	LAMINATED NEOPRENE BEARING PAD	EA	\$320.000	8	\$2,560.00
	0770	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	EA	\$1,300.000	8	\$10,400.00
Project J9S	53224 - Tol	al					\$192,911.70
J9S3224B	0870	2022010	REMOVAL OF IMPROVEMENTS	LS	\$9,500.000	0.5	\$4,750.00
	0890	2079909	MISC.MODIFIED LINEAR GRADING CL 2	STA	\$2,600.000	4.57	\$11,882.00
	0900	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$50.000	57.4	\$2,870.00
	0910	3049910	MISC.TYPE 1 OR TYPE 5 AGGR BASE	TONS	\$48.000	27.66	\$1,327.68
	0920	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$35.000	69	\$2,415.00



Pay Estimate Created Date: June 16, 2020

Progress	Estimate 9	Number	Contract ID 191213-H04 Pay Period Start J Prime Contractor Robertson Contractors, Inc. Pay Period End J		020 Net Chang		nt \$37,453.00
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3224B	0930	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$90.000	211.3	\$19,017.00
	0940	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$90.000	44.4	\$3,996.00
	0950	4071005	TACK COAT	GAL	\$3.500	120	\$420.00
	0980	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$38.000	29	\$1,102.00
	0990	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$15.000	29	\$435.00
	1090	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.000	3,213	\$3,213.00
	1100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.000	1,893	\$1,893.00
	1110	6207001	PAVEMENT MARKING REMOVAL	LF	\$0.500	6,405	\$3,202.5
	1130	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$2.500	73.6	\$184.0
	1170	8051000A	SEEDING - COOL SEASON MIXTURES	ACRE	\$3,900.000	0.25	\$975.0
	1230	9031270A	2 IN. PSST POST - 12 GA.	LF	\$7.000	49	\$343.0
	1240	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	LF	\$12.000	36	\$432.0
	1260	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$18.000	36	\$648.0
	1280	2160500	REMOVAL OF BRIDGES	LS	\$20,000.000	0.25	\$5,000.0
	1290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$130.000	111	\$14,430.0
	1340	7034222	SLAB ON CONCRETE BEAM	SQYD	\$450.000	8	\$3,600.0
roject J9S	3224B - T	otal					\$82,135.1
Overall - To	otal						\$275,046.8

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3224	0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-54	\$30.00	(\$1,620.00)
	0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	54	\$30.00	\$1,620.00
	0050	MISC.	Material			-23.04	\$48.00	(\$1,105.92)
	0050	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	23.04	\$48.00	\$1,105.92
	0060	GRAVEL (A) OR CRUSHED STONE (B)	Material			-34	\$35.00	(\$1,190.00)
	0060	GRAVEL (A) OR CRUSHED STONE (B)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	34	\$35.00	\$1,190.00
	0100	TACK COAT	Material			-100.3	\$3.50	(\$351.05)
	0100	TACK COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user chronf1 overridding Payment Estimate Exception 4 on	100.3	\$3.50	\$351.05



Pay Estimate Created Date: June 16, 2020

Progres	s Estin 9	nate Number	Contract ID Prime Contra	191213- ctor Roberts		Pay Period Start June 2, 2020 Origin s, Inc. Pay Period End June 15, 2020 Net C Curre		Amount \$3	,283,871.00 7,453.00 ,321,324.00
Project Number	Line No.	Item De	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3224						the current Payment Estimate.			
	0260	WATERBORN	TE STANDARD NE PAVEMENT PAINT, TYPE P BEADS	Other Item Adjustment	Other	50% of payment withheld on this estimate pending retroreflectivity results.			(\$283.25
	0270	WATERBORN	W STANDARD NE PAVEMENT PAINT, TYPE P BEADS	Other Item Adjustment	Other	50% of payment withheld on this estimate pending retroreflectivity results.			(\$132.50
	0590	SL	AB ON STEEL	Material			-215	\$450.00	(\$96,750.00)
	0590	SI	AB ON STEEL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user chronf1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	215	\$450.00	\$96,750.00
	0670		ED NEOPRENE AD ASSEMBLY	Material			-8	\$1,300.00	(\$10,400.00)
	0670		ED NEOPRENE AD ASSEMBLY	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user chronf1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	8	\$1,300.00	\$10,400.00
	0690	SL	AB ON STEEL	Material			-140	\$445.00	(\$62,300.00)
	0690			Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	140	\$445.00	\$62,300.00
	0770		ED NEOPRENE AD ASSEMBLY	Material			-8	\$1,300.00	(\$10,400.00)
	0770	LAMINATED NEOPRENE BEARING PAD ASSEMBLY		Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user chronf1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	8	\$1,300.00	\$10,400.00
9S3224B	0880	PORC	OUS BACKFILL	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-17	\$90.00	(\$1,530.00)
	0880	PORC	OUS BACKFILL	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	17	\$90.00	\$1,530.00
	0930		JS PAVEMENT G64-22 (BASE)	Overrun			-100.9	\$90.00	(\$9,081.00)
	0930		JS PAVEMENT G64-22 (BASE)	Overrun			-10.4	\$90.00	(\$936.00)
	0930		JS PAVEMENT G64-22 (BASE)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	100.9	\$90.00	\$9,081.00
	0930	BITUMINOU MIXTURE P	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	10.4	\$90.00	\$936.00	
	0930		JS PAVEMENT G64-22 (BASE)			ACAD for 211.3 Tons of BB17-41.			(\$546.74)

MoDOT

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2020

Progres	ss Estin 9	nate Number	Contract ID Prime Contra	191213 ctor Roberts		Pay Period Start June 2, 2020 Origin s, Inc. Pay Period End June 15, 2020 Net C Curre		Amount \$3	2,283,871.00 37,453.00 2,321,324.00
Project Number	Line No.	Item De	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3224B					Price Adjustment				
	0940	MIX	JS PAVEMENT FURE PG64-22 CE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	ACAD for 44.4 Tons of SL20-25.			(\$144.86)
	1090	WATERBORN	TE STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Overrun			-1,343	\$1.00	(\$1,343.00
	1090	WATERBORN	TE STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	1,343	\$1.00	\$1,343.00
	1090	WATERBORN	TE STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Other Item Adjustment	Other	50% of payment withheld on this estimate pending retroreflectivity results.			(\$1,606.50)
	1100	WATERBORN	W STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Overrun			-805	\$1.00	(\$805.00)
	1100	WATERBORN	W STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user chronf1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	805	\$1.00	\$805.00
	1100	WATERBORN	W STANDARD IE PAVEMENT PAINT, TYPE P BEADS	Other Item Adjustment	Other	50% of payment withheld on this estimate pending retroreflectivity results.			(\$946.50)
	1150	24 IN. F	PIPE GROUP C	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-30	\$55.00	(\$1,650.00
	1150	24 IN. F	PIPE GROUP C	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	30	\$55.00	\$1,650.00
	1290		PROACH SLAB MINOR ROAD)	Other Item Adjustment		ACAD for 111 SY (BB17-41 and SL20-25).			(\$193.68)
	1330	SAFETY B	ARRIER CURB	Material			-139	\$100.00	(\$13,900.00)
	1330	SAFETY B	ARRIER CURB	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user chronf1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	139	\$100.00	\$13,900.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J9S3224	FAS S701(50)	Bridge replacement and 3 bridge rehabilitations	Z	STODDARD	from 4.4 miles west of Route 153 intersection to 3.0 miles east of Route 153 intersections
J9S3224B	FAS S703(69)	2 Bridge replacement	Z	STODDARD	from 2 miles west of Route 153 intersection to 1 miles west of Route 153 intersection

Totals by Job Numbers

J9S3224		This Estimate	Previous	To Date
0000224	Posted Item Pay	\$192,911.70	\$391,236.35	\$584,148.05
	Gross Item Adjustments	(\$415.75)	(\$413.91)	(\$829.66)
	Gross Item Pay	\$192,495.95	\$390,822.44	\$583,318.39
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J9S3224B			Previous	To Date
0000224D		This Estimate	Previous	TO Date
00002240	Posted Item Pay	\$82,135.18	\$711,983.02	\$794,118.20
00002240	Posted Item Pay Gross Item Adjustments			
00002240		\$82,135.18	\$711,983.02	\$794,118.20
00002240	Gross Item Adjustments Gross Item Pay	\$82,135.18 (\$3,438.28) \$78,696.90	\$711,983.02 \$10,661.52 \$722,644.54	\$794,118.20 \$7,223.24 \$801,341.44
00002240	Gross Item Adjustments Gross Item Pay Incentive	\$82,135.18 (\$3,438.28) \$78,696.90 \$0.00	\$711,983.02 \$10,661.52 \$722,644.54 \$0.00	\$794,118.20 \$7,223.24 \$801,341.44 \$0.00
00002240	Gross Item Adjustments Gross Item Pay	\$82,135.18 (\$3,438.28) \$78,696.90	\$711,983.02 \$10,661.52 \$722,644.54	\$794,118.20 \$7,223.24 \$801,341.44



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 3040506, Project Item Line Number 0040, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Pending review of tickets and authorization of sample records. Testing is complete.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 3049910, Project Item Line Number 0050, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Pending review of tickets and authorization of sample records. Testing is complete.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 3105002, Project Item Line Number 0060, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Pending review of tickets and authorization of sample records. Testing is complete.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 4071005, Project Item Line Number 0100, Material Set 407100596, Material 1015EACSS1H - Emulsified Asphalt CSS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Additional cert required. Quantity exceeds contractor's cert.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 7034212, Project Item Line Number 0590, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Testing complete. Pending sample record authorization for 28- day cylinder breaks.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 7034212, Project Item Line Number 0690, Material Set 703421296, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Partial payment for deck forming and rebar tied in place prior to deck pour. Pending deck pour and concrete testing.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 7034212, Project Item Line Number 0690, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Partial payment for deck forming and rebar tied in place prior to deck pour. Pending deck pour and concrete testing.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224B, Item 7034215, Project Item Line Number 1330, Material Set 703421596, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Pending 28-day cylinder breaks.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 7162000, Project Item Line Number 0770, Material Set 716200096, Material 1038BBPD - Bridge Bearing Pad, Acceptance Action Generic 1038BBPD is insufficient.	Pending re-submittal of paint cert by contractor for laminated bearing pad assembly.	chronf1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3224, Item 7162000, Project Item Line Number 0670, Material Set 716200096, Material 1038BBPD - Bridge Bearing Pad, Acceptance Action Generic 1038BBPD is insufficient.	Pending re-submittal of paint cert by contractor for laminated bearing pad assembly.	chronf1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-H04, Contract Project J9S3224B, Project Item Line Number 1090, Contract Line Item Number 1090, Item 6206000C, Minor Item.	Pending change order for additional quantity required for edgelines on Br. A8802 and Br. A8748.	chronf1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-H04, Contract Project J9S3224B, Project Item Line Number 1100, Item 6206001C, Minor Item.	Pending change order for the addition of no passing zones required on Br. A8802.	chronf1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-H04, Contract Project J9S3224B, Project Item Line Number 1150, Contract Line Item Number 1150, Item 7250424, Minor Item.	Pending change order for additional 30 feet of pipe required on Br. A8748.	chronf1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-H04, Contract Project J9S3224B, Project Item Line Number 0880, Contract Line Item Number 0880, Item 2064000, Minor Item.	Pending change order for additional porous backfill required on Br. A8802 and Br. A8748.	chronf1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-H04, Contract Project J9S3224B, Project Item Line Number 0930, Item 4013000, Minor Item.	Pending change order for additional bit base required on Br. A8802 and Br. A8748.	chronf1	Overridden

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Note: Posted Q	uantities a	and Value	s are ba	sed on Re	port Generated date and can differ from the posted amou	unt at the t	time the E	Estimate was	s Gener	ated.			
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
191213-H04	J9S3224	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$18,500.00	\$4,625.00	
		0001	0020	2064000	POROUS BACKFILL	143.00	0.00	143.00	CUYD	35.60	\$85.00	\$3,026.00	
		0001	0030	2079909	MISC.MODIFIED LINEAR GRADING CL 2	22.80	0.00	22.80	STA	3.81	\$2,400.00	\$9,144.00	
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	523.30	0.00	523.30	SQYD	54.00	\$30.00	\$1,620.00	
		0001	0050	3049910	MISC.TYPE 1 OR TYPE 5 AGGR BASE	139.60	0.00	139.60	TONS	23.04	\$48.00	\$1,105.92	
		0001	0060	3105002	GRAVEL (A) OR CRUSHED STONE (B)	318.00	0.00	318.00	TONS	34.00	\$35.00	\$1,190.00	
		0001	0070	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	912.70	0.00	912.70	TONS	110.90	\$90.00	\$9,981.00	
		0001	0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	216.40	0.00	216.40	TONS	53.70	\$90.00	\$4,833.00	
		0001	0090	4029905	MISC.OPTIONAL PAVEMENT	320.00	0.00	320.00	SQYD	106.66	\$58.00	\$6,186.28	
		0001	0100	4071005	TACK COAT	587.00	0.00	587.00	GAL	100.30	\$3.50	\$351.05	
		0001	0110	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	1,036.00	0.00	1,036.00	CUYD	48.60	\$36.00	\$1,749.60	
		0001	0120	6096042	PLACING TYPE 2 ROCK DITCH LINER	1,036.00	0.00	1,036.00	CUYD	48.60	\$18.00	\$874.80	
		0001	0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	1,172.00	0.00	1,172.00	CUYD	477.40	\$38.00	\$18,141.20	
		0001	0140	6113040	PLACING TYPE 2 ROCK BLANKET	1,172.00	0.00	1,172.00	CUYD	477.40	\$13.00	\$6,206.20	
		0001	0150	6149902	MISC.18 IN FLAP GATE	1.00	0.00	1.00	EA	0.00	\$850.00	\$0.00	
		0001	0160	6149902	MISC.24 IN FLAP GATE	3.00	0.00	3.00	EA	0.00	\$1,000.00	\$0.00	
		0001	0170	6149902	MISC.30 IN FLAP GATE	1.00	0.00	1.00	EA	0.00	\$1,200.00	\$0.00	
		0001	0180	6149902	MISC.36 IN FLAP GATE	4.00	0.00	4.00	EA	0.00	\$1,350.00	\$0.00	
		0001	0190	6161005	CONSTRUCTION SIGNS	602.00	-90.00	512.00	SQFT	512.00	\$8.00	\$4,096.00	
		0001	0200	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	8.00	16.00	EA	16.00	\$35.00	\$560.00	
		0001	0210	6161009	FLAG ASSEMBLY	4.00	4.00	8.00	EA	8.00	\$20.00	\$160.00	
		0001	0220	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	12.00	\$125.00	\$1,500.00	
		0001	0230	6161052	WARNING LIGHT, TYPE B	24.00	0.00	24.00	EA	24.00	\$65.00	\$1,560.00	
		0001 0240 61610	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00		
		0001	0250	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$105,000.00	\$0.00	
		0001	0251	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.75	\$87,612.00	\$65,709.00	
		0001	0260	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	4,227.00	0.00	4,227.00	LF	1,133.00	\$0.50	\$566.50	
		0001	0270	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	4,215.00	0.00	4,215.00	LF	530.00	\$0.50	\$265.00	
		0001	0280	6207001	PAVEMENT MARKING REMOVAL	7,068.00	0.00	7,068.00	LF	2,293.00	\$0.50	\$1,146.50	
		0001	0290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	285.00	0.00	285.00	SQYD	113.40	\$15.00	\$1,701.00	
		0001	0300	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	5,422.00	0.00	5,422.00	SQYD	1,060.50	\$3.00	\$3,181.50	
		0001	0310	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.25	\$20,000.00	\$5,000.00	
		0001	0320	7250418	18 IN. PIPE GROUP C	77.00	0.00	77.00	LF	77.00	\$45.00	\$3,465.00	
		0001	0330	7250424	24 IN. PIPE GROUP C	240.00	0.00	240.00	LF	0.00	\$50.00	\$0.00	
		0001	0340	7250430	30 IN. PIPE GROUP C	85.00	0.00	85.00	LF	0.00	\$60.00	\$0.00	
		0001	0350	7250436	36 IN. PIPE GROUP C	388.00	0.00	388.00	LF	189.00	\$62.00	\$11,718.00	
		0001	0360	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.20	\$3,900.00	\$780.00	
		0001	0370	8061005	ROCK DITCH CHECK	188.00	0.00	188.00	LF	0.00	\$15.00	\$0.00	
		0001	0380	8061016	SEDIMENT REMOVAL	42.00	0.00	42.00	CUYD	0.00	\$5.00	\$0.00	
		0001	0390	8061017	TEMPORARY SEEDING AND MULCHING	1.00	0.00	1.00	ACRE	0.00	\$800.00	\$0.00	
		0001	0400	8061019	SILT FENCE	2,349.00	0.00	2,349.00	LF	545.00	\$3.00	\$1,635.00	
		0001	0410	8061050	TYPE C BERM	676.00	0.00	676.00	LF	0.00	\$8.50	\$0.00	
		0040	0420	9031270A	2 IN. PSST POST - 12 GA.	236.00	0.00	236.00	LF	70.00	\$7.00	\$490.00	
		0040	0430	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	147.00	0.00	147.00	LF	36.00	\$12.00	\$432.00	
		0040	0440	9035004A	SH-FLAT SHEET	9.00	0.00	9.00	SQFT	0.00	\$18.00	\$0.00	

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities a	and Value	s are ba	ised on Re	port Generated date and can differ from the posted amo	unt at the	time the I	Estimate was	s Genera	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-H04	J9S3224	0040	0450	9035069A	SHF-FLAT SHEET FLUORESCENT	144.00	0.00	144.00	SQFT	36.00	\$18.00	\$648.00
		0070	0460	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	0.00	\$40.00	\$0.00
		0070	0470	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.00	\$20,000.00	\$0.00
		0070	0480	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	111.00	0.00	111.00	SQYD	0.00	\$135.00	\$0.00
		0070	0490	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	216.00	0.00	216.00	LF	0.00	\$125.00	\$0.00
		0070	0500	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.00
		0070	0510	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	31.00	0.00	31.00	CUYD	0.00	\$980.00	\$0.00
		0070	0520	7034215	SAFETY BARRIER CURB	139.00	0.00	139.00	LF	0.00	\$105.00	\$0.00
		0070	0530	7034222	SLAB ON CONCRETE BEAM	156.00	0.00	156.00	SQYD	0.00	\$430.00	\$0.00
		0070	0540	7056065	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	152.00	0.00	152.00	LF	0.00	\$285.00	\$0.00
		0070	0550	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	0.00	\$220.00	\$0.00
		0070	0560	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$1,400.00	\$0.00
		0070	0570	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	0.00	\$180.00	\$0.00
		0073	0580	2169901	MISC.Removal of Existing Superstructure	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0073	0590	7034212	SLAB ON STEEL	215.00	0.00	215.00	SQYD	215.00	\$450.00	\$96,750.00
		0073	0600	7034215	SAFETY BARRIER CURB	145.00	0.00	145.00	LF	145.00	\$100.00	\$14,500.00
		0073	0610	7040101	SUBSTRUCTURE REPAIR (FORMED)	20.00	0.00	20.00	SQFT	2.00	\$345.00	\$690.00
		0073	0620	7040113	CLEAN AND EPOXY SEAL	499.00	0.00	499.00	SQFT	0.00	\$11.00	\$0.00
		0073	0630	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	24,100.00	0.00	24,100.00	LB	24,100.00	\$2.30	\$55,430.00
		0073	0640	7123610	SLAB DRAIN	14.00	0.00	14.00	EA	14.00	\$220.00	\$3,080.00
			0650	7129901	MISC.Galvanizing Structural Steel	1.00	0.00	1.00	LS	1.00	\$16,500.00	\$16,500.00
			0660	7161002	LAMINATED NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$320.00	\$2,560.00
		0073	0670	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$1,300.00	\$10,400.00
		0074	0680	2169901	MISC.Removal of Existing Superstructure	1.00	0.00	1.00	LS	0.75	\$15,000.00	\$11,250.00
		0074	0690	7034212	SLAB ON STEEL	253.00	0.00	253.00	SQYD	140.00	\$445.00	\$62,300.00
		0074	0700	7034215	SAFETY BARRIER CURB	170.00	0.00	170.00	LF	0.00	\$100.00	\$0.00
		0074	0710	7040101	SUBSTRUCTURE REPAIR (FORMED)	20.00	0.00	20.00	SQFT	10.00	\$350.00	\$3,500.00
		0074	0720	7040113	CLEAN AND EPOXY SEAL	499.00	0.00	499.00	SQFT	0.00	\$11.00	\$0.00
		0074	0730	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	28,030.00	0.00	28,030.00	LB	28,030.00	\$2.25	\$63,067.50
		0074	0740	7123610	SLAB DRAIN	14.00	0.00	14.00	EA	0.00	\$220.00	\$0.00
		0074	0750	7129901	MISC.Galvanizing Structural Steel	1.00	0.00	1.00	LS	1.00	\$18,000.00	\$18,000.00
		0074	0760	7161002	LAMINATED NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$320.00	\$2,560.00
		0074	0770	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$1,300.00	\$10,400.00
		0075	0780	2169901	MISC.Removal of Existing Superstructure	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
		0075	0790	7034212	SLAB ON STEEL	198.00	0.00	198.00	SQYD	0.00	\$465.00	\$0.00
		0075	0800	7034215	SAFETY BARRIER CURB	133.00	0.00	133.00	LF	0.00	\$105.00	\$0.00
		0075	0810	7040113	CLEAN AND EPOXY SEAL	499.00	0.00	499.00	SQFT	0.00	\$11.00	\$0.00
		0075	0820	7121111	FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50	22,010.00	0.00	22,010.00	LB	0.00	\$2.35	\$0.00
		0075	0830	7123610	SLAB DRAIN	12.00	0.00	12.00	EA	0.00	\$220.00	\$0.00
		0075	0840	7129901	MISC.Galvanizing Structural Steel	1.00	0.00	1.00	LS	0.00	\$14,500.00	\$0.00
		0075	0850	7161002	LAMINATED NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	0.00	\$380.00	\$0.00
		0075	0860	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	8.00	0.00	8.00	EA	0.00	\$1,300.00	\$0.00
		0001	5001	6189901	MISC.Contract Bond. Mobilization was adjusted for Contract Bond.	0.00	1.00	1.00	LS	1.00	\$17,388.00	\$17,388.00
		0073	5002	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	0.00	1.00	1.00	CUYD	1.00	\$1,050.00	\$1,050.00
		0073	5003	7101000	REINFORCING STEEL (EPOXY COATED)	0.00	50.00	50.00	LB	50.00	\$1.50	\$75.00
	Project J9	- S3224 - Tot	al Value I	Posted to Da	te as of Report Generated Date		1					\$584,148.05

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities a	nd Value	s are ba	sed on Re	port Generated date and can differ from the posted amou	unt at the t	ime the E	Estimate was	Gener	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-H04	J9S3224B	0001	0870	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$9,500.00	\$9,500.00
		0001	0880	2064000	POROUS BACKFILL	72.00	0.00	72.00	CUYD	89.00	\$90.00	\$8,010.00
		0001	0890	2079909	MISC.MODIFIED LINEAR GRADING CL 2	10.10	0.00	10.10	STA	10.10	\$2,600.00	\$26,260.00
		0001	0900	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	96.70	0.00	96.70	SQYD	71.20	\$50.00	\$3,560.00
		0001	0910	3049910	MISC.TYPE 1 OR TYPE 5 AGGR BASE	61.40	0.00	61.40	TONS	61.40	\$48.00	\$2,947.20
		0001	0920	3105002	GRAVEL (A) OR CRUSHED STONE (B)	146.00	0.00	146.00	TONS	146.00	\$35.00	\$5,110.00
		0001	0930	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	399.00	0.00	399.00	TONS	510.30	\$90.00	\$45,927.00
		0001	0940	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	96.90	0.00	96.90	TONS	96.90	\$90.00	\$8,721.00
		0001	0950	4071005	TACK COAT	249.00	0.00	249.00	GAL	249.00	\$3.50	\$871.50
		0001	0960	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	794.00	0.00	794.00	CUYD	718.00	\$35.00	\$25,130.00
		0001	0970	6096042	PLACING TYPE 2 ROCK DITCH LINER	794.00	0.00	794.00	CUYD	718.00	\$15.00	\$10,770.00
		0001	0980	6113020	FURNISHING TYPE 2 ROCK BLANKET	610.00	0.00	610.00	CUYD	599.00	\$38.00	\$22,762.00
		0001	0990	6113040	PLACING TYPE 2 ROCK BLANKET	610.00	0.00	610.00	CUYD	599.00	\$15.00	\$8,985.00
		0001	1000	6149902	MISC.24 IN FLAP GATE	3.00	0.00	3.00	EA	3.00	\$1,000.00	\$3,000.00
		0001	1010	6149902	MISC.36 IN FLAP GATE	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0001	1020	6161005	CONSTRUCTION SIGNS	410.00	-184.00	226.00	SQFT	226.00	\$8.00	\$1,808.00
		0001	1030	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	8.00	\$35.00	\$280.00
		0001	1040	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	1050	6161030	TYPE III MOVEABLE BARRICADE	12.00	6.00	18.00	EA	18.00	\$125.00	\$2,250.00
		0001	1060	6161052	WARNING LIGHT, TYPE B	24.00	-12.00	12.00	EA	12.00	\$55.00	\$660.00
		0001	1070	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	1080	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$55,000.00	\$55,000.00
		0001	1090	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,870.00	0.00	1,870.00	LF	3,213.00	\$1.00	\$3,213.00
		0001	1100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,088.00	0.00	1,088.00	LF	1,893.00	\$1.00	\$1,893.00
		0001	1110	6207001	PAVEMENT MARKING REMOVAL	6,978.00	0.00	6,978.00	LF	6,405.00	\$0.50	\$3,202.50
		0001	1120	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	203.00	0.00	203.00	SQYD	166.00	\$15.00	\$2,490.00
		0001	1130	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	3,621.00	0.00	3,621.00	SQYD	3,235.00	\$2.50	\$8,087.50
		0001	1140	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$9,500.00	\$9,500.00
		0001	1150	7250424	24 IN. PIPE GROUP C	219.00	0.00	219.00	LF	249.00	\$55.00	\$13,695.00
		0001	1160	7250436	36 IN. PIPE GROUP C	148.00	0.00	148.00	LF	148.00	\$68.00	\$10,064.00
		0001	1170	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.50	\$3,900.00	\$1,950.00
		0001	1180	8061005	ROCK DITCH CHECK	94.00	0.00	94.00	LF	0.00	\$15.00	\$0.00
		0001	1190	8061016	SEDIMENT REMOVAL	14.00	0.00	14.00	CUYD	0.00	\$5.00	\$0.00
		0001	1200	8061017	TEMPORARY SEEDING AND MULCHING	1.00	0.00	1.00	ACRE	0.00	\$800.00	\$0.00
		0001	1210	8061019	SILT FENCE	522.00	0.00	522.00	LF	100.00	\$3.50	\$350.00
		0001	1220	8061050	TYPE C BERM	365.00	0.00	365.00	LF	79.00	\$6.50	\$513.50
		0040	1230	9031270A	2 IN. PSST POST - 12 GA.	142.00	0.00	142.00	LF	121.00	\$7.00	\$847.00
		0040	1240	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	78.00	0.00	78.00	LF	78.00	\$12.00	\$936.00
		0040	1250	9035004A	SH-FLAT SHEET	18.00	0.00	18.00	SQFT	18.00	\$18.00	\$324.00
		0040	1260	9035069A	SHF-FLAT SHEET FLUORESCENT	72.00	0.00	72.00	SQFT	72.00	\$18.00	\$1,296.00
		0070	1270	2061000	CLASS 1 EXCAVATION	60.00	25.00	85.00	CUYD	85.00	\$30.00	\$2,550.00
		0070	1280	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000.00
		0070	1290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	111.00	0.00	111.00	SQYD	111.00	\$130.00	\$14,430.00
		0070	1300	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	196.00	121.00	317.00	LF	317.00	\$120.00	\$38,040.00
		0070	1310	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.00

Total Paid / All Items / All Estimates (Including this Estimate)

the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-H04	J9S3224B	0070	1320	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	31.00	0.00	31.00	CUYD	31.00	\$980.00	\$30,380.00
		0070	1330	7034215	SAFETY BARRIER CURB	139.00	0.00	139.00	LF	139.00	\$100.00	\$13,900.00
		0070	1340	7034222	SLAB ON CONCRETE BEAM	156.00	0.00	156.00	SQYD	156.00	\$450.00	\$70,200.00
		0070	1350	7056065	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	152.00	0.00	152.00	LF	152.00	\$285.00	\$43,320.00
		0070	1360	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	10.00	\$220.00	\$2,200.00
		0070	1370	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0070	1380	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200.00
		0071	1390	2061000	CLASS 1 EXCAVATION	50.00	-12.00	38.00	CUYD	38.00	\$30.00	\$1,140.00
		0071	1400	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0071	1410	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	113.00	0.00	113.00	SQYD	113.00	\$130.00	\$14,690.00
		0071	1420	7021314	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	176.00	193.00	369.00	LF	369.00	\$120.00	\$44,280.00
		0071	1430	7025001	DYNAMIC PILE TESTING	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.00
		0071	1440	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	28.80	0.00	28.80	CUYD	28.80	\$1,050.00	\$30,240.00
		0071	1450	7034215	SAFETY BARRIER CURB	107.00	0.00	107.00	LF	107.00	\$105.00	\$11,235.00
		0071	1460	7034222	SLAB ON CONCRETE BEAM	156.00	0.00	156.00	SQYD	156.00	\$450.00	\$70,200.00
		0071	1470	7056065	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	152.00	0.00	152.00	LF	152.00	\$285.00	\$43,320.00
		0071	1480	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	10.00	\$220.00	\$2,200.00
		0071	1490	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0071	1500	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200.00
	Project J9	S3224B - To	otal Value	e Posted to D	Date as of Report Generated Date							\$794,118.20
91213-H04 Ove	erall - Total \	/alue Poste	d to Date	as of Repor	rt Generated Date							\$1,378,266.25



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/15/20	6/16/20	-10.60	TONS	Br. N02851 overpayment.	526+00		529+75.31		Overpayment. Correction for approach slab on previous estimate was not made although stated in comments. Apprice adjustment, however, was made using correct quantity on previous estimate.
0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	6/12/20	6/15/20	97.30	CUYD	Br. N02861. West of ditch. Plan section B-B to C-C.	580+63.60				
				6/15/20	105.10	CUYD	Br. N02861. East of ditch. Plan section G-G to H-H.	581+48.81				
0140	6113040	PLACING TYPE 2 ROCK BLANKET	6/12/20	6/15/20	97.30	CUYD	Br. N02861. West of ditch. Plan section B-B to C-C.	580+63.60				
				6/15/20	105.10	CUYD	Br. N02861. East of ditch. Plan section G-G to H-H.	581+48.81				
0190	6161005	CONSTRUCTION SIGNS	6/4/20	6/11/20	10.00	SQFT	Road Closed Sign on Barricade on Rte. Z West of Br. N02861	10.917				
				6/11/20	10.00	SQFT	Rte. Z Dir E Road Closed Sign on Barricade east of Br. N02861	11.135				
0220	6161030	TYPE III MOVEABLE BARRICADE	6/4/20	6/11/20	3.00	EA	Log Mile 11.135 Rte. Z Direction E Barricades east of Br. N02861	11.135				
				6/11/20	3.00	EA	Log mile 10.917 Rte. Z Direction E Barricades west of Br. N02861	10.917				
0230	6161052	WARNING LIGHT, TYPE B	6/4/20	6/11/20	6.00	EA	Log Mile 10.917 Rte. Z Direction E 2 lights on each of the 3 Barricades west of Br. N02861	10.917				
				6/11/20	6.00	EA	Log Mile 11.135 Rte. Z Direction E 2 lights on each of the 3 Barricades east of Br. N02861	11.135				
0260	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/10/20	6/15/20	557.00	LF	Br. N02851. North. Measured white edgeline.	526+00	LT	530+05	LT	Exceeds plan quantity due to removal of one lane bridg edgelines.
				6/15/20	576.00	LF	Br. N02851. South. Measured white edgeline.	526+00	RT	530+05	RT	Exceeds plan quantity due to removal of one lane bridge edgelines.
0270	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/10/20	6/15/20	530.00	LF	Br. N02851. Measured intermittent yellow.	526+00	CL	530+05	CL	
0280	6207001	PAVEMENT MARKING REMOVAL	6/10/20	6/15/20	273.00	LF	Br. N02851. East. Measured removal of white edgelines.	526+00	LT	530+05	LT	132+141=273
				6/15/20	1,006.00	LF	Br. N02851. East. Measured removal of double yellow.	526+00		530+05		503+503=1,006
				6/15/20	1,014.00	LF	Br. N02851. West. Measured removal of double yellow.	526+00		530+05		507+507=1,014
0300	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	6/12/20	6/15/20	181.10	SQYD	Br. N02861. West of ditch. Plan section B-B to C-C.	580+63.60				
				6/15/20	190.50	SQYD	Br. N02861. East of ditch. Plan section G-G to H-H.	581+48.81				
0320	7250418	18 IN. PIPE CULVERT GROUP C	6/2/20	6/11/20	77.00	LF	Southwest of Br. N02861	580+45	RT			
0350	7250436	36 IN. PIPE CULVERT GROUP C	6/2/20	6/11/20	189.00	LF	Northwest of Br. N02861	578+87	LT	580+76	LT	
0680	2169901	MISC. REMOVALS	6/15/20	6/16/20	0.25	LS	Superstructure removal of Br. N0286.	580+63.6		581+48.81		Final payment made when materials removed from site.
0690	7034212	SLAB ON STEEL	6/12/20	6/15/20	89.00	SQYD	Br. N02861	580+63.60		581+48.81		35% payment for forming deck.
			6/15/20	6/16/20	51.00	SQYD	Br. N02861.	580+63.60		581+48.81		20% payment for rebar tied in place.
0710	7040101	SUBSTRUCTURE REPAIR (FORMED)	6/4/20	6/11/20	10.00	SQFT	Bent 1 to Bent 4 of Br. N02861	580+63.6		581+48.81		
0730	7121111	FAB. STRUCT. LOW ALLOY STEEL(IBM)A709,50	6/4/20	6/11/20	28,030.00	LB	Br. N02861.	580+63.60		581+48.81		
0750	7129901	MISC. STRUCTURAL STEEL CONSTRUCTION	6/4/20	6/11/20	1.00	LS	Br. N02861.	580+63.60		581+48.81		
0760	7161002	LAMINATED NEOPRENE BEARING PAD	6/4/20	6/11/20	8.00	EA	Br. N02861. Bent 1 & 4.	580+63.60		581+48.81		
0770	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	6/4/20	6/11/20	8.00	EA	Br. N02861. Bent 2 & 3.	580+63.60		581+48.81		

Project: J9S3224B

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0870	2022010	REMOVAL OF IMPROVEMENTS	6/9/20	6/11/20	0.50	LS	Br. A8748	368+43.61		373+38.71		
0890	2079909	MISC. GRADING	6/8/20	6/11/20	0.24	STA	Driveway Northeast of Br. A8748	371+42	LT			
				6/11/20	0.25	STA	Driveway Southwest of Br. A8748	369+83	RT			
				6/11/20	0.26	STA	Driveway Northwest of Br. A8748	370+30	LT			
				6/11/20	1.16	STA	East of Br. A8748	371+19.4		372+35		
				6/11/20	2.66	STA	West of Br. A8748	368+0		370+65.9		
0900	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	6/2/20	6/11/20	9.26	SQYD	Br. A8748. Widening northeast of bridge.	371+39.40	LT	371+89.40	LT	
				6/11/20	13.52	SQYD	Br. A8748. Widening southeast of bridge.	369+95.9	RT	370+45.9	RT	
				6/11/20	15.37	SQYD	Br. A8748. Widening northwest of bridge.	369+95.9	LT	370+45.9	LT	
				6/11/20	19.25	SQYD	Br. A8748. Widening southwest of bridge.	369+95.9	RT	370+45.90	RT	
0910	3049910	MISC. AGGREGATE FOR BASE	6/8/20	6/11/20	0.02	TONS		368+0		372+35		Rounding Correction
				6/11/20	1.26	TONS	Variable widening shoulders northwest of Br. A8748	371+39.4	LT	371+89.4		
				6/11/20	1.26	TONS	Variable widening shoulders on northwest of Br. A8748	369+95.9	LT	370+45.9		
				6/11/20	1.26	TONS	Variable widening shoulders southeast of Br. A8748	371+39.4	RT	371+89.4		
				6/11/20	1.26	TONS	Variable widening shoulders southwest of Br. A8748	369+95.9	RT	370+45.9		
				6/11/20	2.13	TONS	North shoulder (WBL) east of Br. A8748	371+89.4	LT	372+35		
				6/11/20	2.13	TONS	South shoulder (EBL) east of Br. A8748	371+89.4	RT	372+35		
				6/11/20	9.17	TONS	Shoulders Northwest of Br. A8748	368+0	LT	369+95.9		
				6/11/20	9.17	TONS	Shoulders southwest of Br. A8748	368+00	RT	369+95.9		
0920	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6/8/20	6/11/20	0.60	TONS	Rounding correction for Br. A8802 and Br. A8748	369+83				
				6/11/20	10.30	TONS	Driveway Northwest of Br. A8748	371+42	LT			
				6/11/20	11.20	TONS	Driveway Northwest of Br. A8748	370+30	LT			
				6/11/20	20.00	TONS	Br. A8748 additional quantity to driveways.	369+83		371+42		
				6/11/20	26.90	TONS	Driveway SW of Br. A8748	369+83	RT			
0930	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	6/3/20	6/9/20	100.90	TONS	Br. A8748	368+00		372+35		
			6/4/20	6/11/20	110.40	TONS	Br. A8748	368+00	372+35			
0940	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/4/20	6/11/20	44.40	TONS	Br. A8748	368+00		372+35		
0950	4071005	TACK COAT	6/3/20	6/9/20	75.00	GAL	Br. A8748	368+00		372.35		
			6/4/20	6/11/20	45.00	GAL	Br. A8748	368+00		372+35		
0980	6113020	FURNISHING TYPE 2 ROCK BLANKET	6/8/20	6/11/20	0.50	CUYD	Rounding correction	370+55				
				6/11/20	28.50	CUYD	Rock Drains at all 4 corners of Br. A8748	370+55		371+30		
0990	6113040	PLACING TYPE 2 ROCK BLANKET	6/8/20	6/11/20		CUYD		370+55				
				6/11/20	28.50	CUYD	Rock Drains at all 4 corners of Br. A8748	370+55		371+30		
1090	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/10/20	6/15/20	1,318.00	LF	Br. A8748. Measured white edgelines.	368+00		372+35		North 653-ft. South 665-ft. Exceeds plan quantity due to removal one lane bridge edgelines.
				6/15/20	1,895.00	LF	Br. A8802. Measured white edgelines.	418+50		423+50		North 953-ft. South 942-ft. Exceeds plan quantity due to removal of one lane bridge edgelines.
1100	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/10/20	6/15/20	398.00	LF	Br. A8802. East. Measured single yellow for no passing.	418+50		423+50		
				6/15/20	405.00	LF	Br. A8802. West. Measured single yellow for no passing.	418+50		423+50		

Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1100	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/10/20	6/15/20	540.00	LF	Br. A8802. Measured intermittent yellow.	418+50		423+50		
				6/15/20	550.00	LF	Br. A8748. Measured intermittent yellow.	368+00		372+35		
1110	6207001	PAVEMENT MARKING REMOVAL	6/10/20	6/15/20	284.00	LF	Br. A8802. West. Measured removal of one lane bridge edgelines.	418+50		423+50		142+142=284
				6/15/20	298.00	LF	Br. A8802. West. Measured removal of single yellow.	418+50		423+50		
				6/15/20	340.00	LF	Br. A8748. East. Measured removal of one lane bridge edgelines.	368+00		372+35		170+170 = 340.
				6/15/20	596.00	LF	Br. A8802. East. Measured removal of one lane bridge edgelines.	418+50		423+50		300+296=596
				6/15/20	674.00	LF	Br. A8802. West. Measured removal of double yellow.	418+50		423+50		337+337= 674
				6/15/20	1,138.00	LF	Br. A8802. East. Measured removal of double yellow.	418+50		423+50		569+569=1,138
				6/15/20	1,490.00	LF	Br. A8748. East. Measured removal of double yellow.	368+00		372+35		745 + 745 = 1490
				6/15/20	1,585.00	LF	Br. A8748. West. Measured removal of double yellow.	368+00		372+35		787+798=1,585
1130	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	6/8/20	6/11/20	0.20	SQYD	Rounding correction.					
				6/11/20	73.40	SQYD	Rock Drains at all 4 corners of Br. A8748	370+55		371+30		
1170	8051000A	SEEDING - COOL SEASON MIXTURES	6/8/20	6/11/20	0.25	ACRE	Br. A8748	368+0		372+35		
1230	9031270A	2 IN. PSST POST - 12 GA.	6/5/20	6/8/20	12.25	LF	Northeast corner of Br. A8748	371+27.90	LT			
				6/8/20	12.25	LF	Northwest corner of Br. A8748	370+54.40				
				6/8/20	12.25	LF	Southeast corner of Br. A8748	371+27.90	RT			
				6/8/20	12.25	LF	Southwest corner of Br. A8748	370+54.40	RT			
1240	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	6/5/20	6/8/20	9.00	LF	Northeast corner of Br. A8748	371+27.90	LT			
				6/8/20	9.00	LF	Northwest corner of Br. A8748	370+57.40	LT			
				6/8/20	9.00	LF	Southeast corner of Br. A8748	371+27.90	RT			
				6/8/20	9.00	LF	Southwest corner of Br. A8748	370+57.40	RT			
1260	9035069A	SHF-FLAT SHEET FLUORESCENT	6/5/20	6/8/20	9.00	SQFT	Northeast corner of Br. A8748	371+27.90	LT			
				6/8/20	9.00	SQFT	Northwest corner of Br. A8748	370+57.40	RT			
				6/8/20	9.00	SQFT	Southeast corner of Br. A8748	371+27.90	RT			
				6/8/20	9.00	SQFT	Southwest corner of Br. A8748	370+57.40	RT			
1280	2160500	REMOVAL OF BRIDGES	6/15/20	6/16/20	0.25	LS	Existing Structure: Br. P0445.	370+61.7				All materials removed from site.
1290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	6/4/20	6/11/20	111.00	SQYD	Br. A8748	370+65.90				
1340	7034222	SLAB ON CONCRETE BEAM	6/9/20	6/11/20	8.00	SQYD	Br. A8748.	370+65.90		371+19.40		Final 5% payment for curing, sealing, and stripping forms Deck sealed today.

The information below this line are details from Line Item agency views. No Agency View Details Exist



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material	1990	8	Jun 2, 2020	SYSTEM	(\$1,620.00)	
				8	Jun 2, 2020	SYSTEM	\$1,620.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$1,620.00)	
				9	Jun 16, 2020	SYSTEM	\$1,620.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		-	- Total				\$0.00	
	Material - Total						\$0.00	
0040 -	Total						\$0.00	
0050	MISC. TYPE 1 OR TYPE 5 AGGR BASE	Material		8	Jun 2, 2020	SYSTEM	(\$1,105.92)	
				8	Jun 2, 2020	SYSTEM	\$1,105.92	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$1,105.92)	
				9	Jun 16, 2020	SYSTEM	\$1,105.92	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0050 -	· Total						\$0.00	
0060	GRAVEL (A) OR CRUSHED STONE (B)	Material		8	Jun 2, 2020	SYSTEM	(\$1,190.00)	
				8	Jun 2, 2020	SYSTEM	\$1,190.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$1,190.00)	
				9	Jun 16, 2020	SYSTEM	\$1,190.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0060 -	Total							
0070	Total						\$0.00	
0070	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material		8	Jun 2, 2020	SYSTEM	\$0.00 (\$9,981.00)	
0070	BITUMINOUS PAVEMENT MIXTURE	Material		8		SYSTEM SYSTEM		This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
0070	BITUMINOUS PAVEMENT MIXTURE	Material	- Total		2020 Jun 2,		(\$9,981.00)	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current
0070	BITUMINOUS PAVEMENT MIXTURE	Material	- Total		2020 Jun 2,		(\$9,981.00) \$9,981.00	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current
0070	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material Other Item Adjustment	- Total	8	2020 Jun 2,		(\$9,981.00) \$9,981.00 \$0.00	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
0070	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Material - Total BITUMINOUS PAVEMENT MIXTURE	Other Item		8 8	2020 Jun 2, 2020 Jun 2,	SYSTEM	(\$9,981.00) \$9,981.00 \$0.00 \$0.00	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
0070	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Material - Total BITUMINOUS PAVEMENT MIXTURE	Other Item	ACAD	8 8	2020 Jun 2, 2020 Jun 2,	SYSTEM	(\$9,981.00) \$9,981.00 \$0.00 \$0.00 (\$191.30)	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Material - Total BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Other Item Adjustment - Total	Other Item	ACAD	8 8	2020 Jun 2, 2020 Jun 2,	SYSTEM	(\$9,981.00) \$9,981.00 \$0.00 \$0.00 (\$191.30) (\$191.30)	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
0070 - 0080	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Material - Total BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Other Item Adjustment - Total	Other Item	ACAD	8 8	2020 Jun 2, 2020 Jun 2,	SYSTEM	(\$9,981.00) \$9,981.00 \$0.00 \$0.00 (\$191.30) (\$191.30)	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
0070 -	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Material - Total BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE) Other Item Adjustment - Total Total BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	8 8 al	2020 Jun 2, 2020 Jun 2, 2020	SYSTEM chronf1	(\$9,981.00) \$9,981.00 \$0.00 \$0.00 (\$191.30) (\$191.30) (\$191.30)	Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0080	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD		Jun 2, 2020	chronf1	(\$116.80)	ACAD for 53.7 Tons of SL20-25.
			ACAD - Tota	al			(\$116.80)	
	Other Item Adjustment - Total						(\$116.80)	
	- Total						(\$116.80)	
0090	MISC. OPTIONAL PAVEMENT	Material		8	Jun 2, 2020	SYSTEM	(\$6,186.28)	
				8	Jun 2, 2020	SYSTEM	\$6,186.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	MISC. OPTIONAL PAVEMENT	Other Item Adjustment	ACAD	8	Jun 2, 2020	chronf1	(\$105.81)	ACAD for 106.66 SY (BB17-41 and SL20-25).
			ACAD - Tota	al			(\$105.81)	
	Other Item Adjustment - Total						(\$105.81)	
0090	Total						(\$105.81)	
0100	TACK COAT	Material		8	Jun 2, 2020	SYSTEM	(\$351.05)	
				8	Jun 2, 2020	SYSTEM	\$351.05	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user chronf1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$351.05)	
				9	Jun 16, 2020	SYSTEM	\$351.05	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0100	- Total						\$0.00	
0190	CONSTRUCTION SIGNS	Material		2	Mar 2, 2020	SYSTEM	(\$3,776.00)	
				2	Mar 2, 2020	SYSTEM	\$3,776.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1
								overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total		- Total				\$0.00 \$0.00	
0190	Material - Total Total		- Total					
		Material	- Total	2	Mar 2, 2020	SYSTEM	\$0.00 \$0.00 (\$560.00)	Payment Estimate.
	- Total	Material	- Total	2		SYSTEM	\$0.00 \$0.00	
	- Total	Material	- Total		2020 Mar 3,		\$0.00 \$0.00 (\$560.00)	Payment Estimate.
	- Total	Material	- Total	2	2020 Mar 3, 2020 Mar 17,	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00	Payment Estimate.
	- Total	Material		2	2020 Mar 3, 2020 Mar 17,	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00)	Payment Estimate.
	Total ADVANCED WARNING RAIL SYSTEM		- Total	2	2020 Mar 3, 2020 Mar 17,	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00) (\$560.00)	Payment Estimate.
	Total ADVANCED WARNING RAIL SYSTEM Material - Total		- Total	2 3	2020 Mar 3, 2020 Mar 17, 2020	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00) (\$560.00)	Payment Estimate.
	Total ADVANCED WARNING RAIL SYSTEM Material - Total		- Total	2 3	2020 Mar 3, 2020 Mar 17, 2020	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00) (\$560.00) \$560.00	Payment Estimate.
0190	Total ADVANCED WARNING RAIL SYSTEM Material - Total ADVANCED WARNING RAIL SYSTEM	MaterialCredit	- Total	2 3 4	2020 Mar 3, 2020 Mar 17, 2020	SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00) (\$560.00) \$560.00 \$560.00	Payment Estimate.
	Total ADVANCED WARNING RAIL SYSTEM Material - Total ADVANCED WARNING RAIL SYSTEM MaterialCredit - Total	MaterialCredit	- Total	2 3 4	2020 Mar 3, 2020 Mar 17, 2020 Apr 2, 2020 Mar 2,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$560.00) \$560.00 (\$560.00) (\$560.00) \$560.00 \$560.00	Payment Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0200	ADVANCED WARNING RAIL SYSTEM	Overrun	Overrun		2020			payment estimates of '0.00000' is applied (if non-zero).
				3	Mar 17, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0200 -	Total						\$0.00	
0210	FLAG ASSEMBLY	Material		2	Mar 2, 2020	SYSTEM	(\$160.00)	
				2	Mar 2, 2020	SYSTEM	\$160.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	FLAG ASSEMBLY	Overrun	Overrun	2	Mar 2, 2020	SYSTEM	(\$80.00)	
				2	Mar 2, 2020	SYSTEM	\$80.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 9 on the current Payment Estimate.
				3	Mar 17, 2020	SYSTEM	(\$80.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				3	Mar 17, 2020	SYSTEM	\$80.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0210 -	· Total						\$0.00	
0240	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		3	Mar 17, 2020	SYSTEM	(\$6,000.00)	
			- Total				(\$6,000.00)	
	Material - Total						(\$6,000.00)	
	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	MaterialCredit		4	Apr 2, 2020	SYSTEM	\$6,000.00	
			- Total				\$6,000.00	
	MaterialCredit - Total						\$6,000.00	
0240 -	- Total						\$0.00	
0260	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS		OTHR	9	Jun 16, 2020	chronf1	(\$283.25)	50% of payment withheld on this estimate pending retroreflectivity results.
			OTHR - Tota	al			(\$283.25)	
	Other Item Adjustment - Total						(\$283.25)	
0260 -	· Total						(\$283.25)	
0270	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	OTHR	9	Jun 16, 2020	chronf1	(\$132.50)	50% of payment withheld on this estimate pending retroreflectivity results.
			OTHR - Tota	al			(\$132.50)	
	Other Item Adjustment - Total						(\$132.50)	
0270 -							(\$132.50)	
0360	SEEDING - COOL SEASON MIXTURES	Material		8	Jun 2, 2020	SYSTEM	(\$780.00)	
				8	Jun 2, 2020	SYSTEM	\$780.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user chronf1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0360 -	Total						\$0.00	



	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0400	SILT FENCE	Material		7	May 19, 2020	SYSTEM	(\$1,635.00)	
				7	May 19, 2020	SYSTEM	\$1,635.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0400 -	Total			_			\$0.00	
0590	SLAB ON STEEL	Material		6	May 4, 2020	SYSTEM	(\$33,750.00)	
				6	May 5, 2020	SYSTEM	\$33,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$91,800.00)	
				7	May 19, 2020	SYSTEM	\$91,800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				8	Jun 2, 2020	SYSTEM	(\$96,750.00)	
				8	Jun 2, 2020	SYSTEM	\$96,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user chronf1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$96,750.00)	
				9	Jun 16, 2020	SYSTEM	\$96,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user chronf1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0590 -	Total						\$0.00	
0600	SAFETY BARRIER CURB	Material		8	Jun 2, 2020	SYSTEM	(\$14,500.00)	
				8	Jun 2, 2020	SYSTEM	\$14,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
			- Total	8	Jun 2,	SYSTEM	\$14,500.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current
	Material - Total		- Total	8	Jun 2,	SYSTEM		Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current
0600 -			- Total	8	Jun 2,	SYSTEM	\$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current
		Material	- Total	8 7	Jun 2,	SYSTEM	\$0.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current
0600 - 0610	Total	Material	- Total		Jun 2, 2020 May 19,		\$0.00 \$0.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current
	Total	Material	- Total	7	Jun 2, 2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00)	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
	Total	Material		7	Jun 2, 2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00) \$690.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
0610	Total SUBSTRUCTURE REPAIR (FORMED) Material - Total	Material		7	Jun 2, 2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00) \$690.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
0610 0610 -	Total SUBSTRUCTURE REPAIR (FORMED) Material - Total	Material		7	Jun 2, 2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00) \$690.00 \$0.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
0600 - 0610 0610 - 0630	Total SUBSTRUCTURE REPAIR (FORMED) Material - Total Total FABRICATED STRUCTURAL LOW ALLOY			7 7	Jun 2, 2020 May 19, 2020 May 19, 2020	SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00) \$690.00 \$0.00 \$0.00 \$0.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
0610 0610 -	Total SUBSTRUCTURE REPAIR (FORMED) Material - Total Total FABRICATED STRUCTURAL LOW ALLOY			7 7 6	Jun 2, 2020 May 19, 2020 May 19, 2020 May 4, 2020 May 4, 2020	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 (\$690.00) \$690.00 \$0.00 \$0.00 (\$55,430.00)	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
0610 0610 -	Total SUBSTRUCTURE REPAIR (FORMED) Material - Total Total FABRICATED STRUCTURAL LOW ALLOY			7 7 6 6	Jun 2, 2020 May 19, 2020 May 19, 2020 May 4, 2020 May 5, 2020 May 19,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$690.00 \$690.00 \$690.00 \$0.00 \$0.00 (\$55,430.00) \$55,430.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINC	Description	Туре	Adjustment Type		Date	Ву	Amount	Normanya
0630	Material - Total						\$0.00	
0630 -	Total						\$0.00	
0670	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	Material		7	May 19, 2020	SYSTEM	(\$10,400.00)	
				7	May 19, 2020	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user chronf1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				8	Jun 2, 2020	SYSTEM	(\$10,400.00)	
				8	Jun 2, 2020	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user chronf1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$10,400.00)	
				9	Jun 16, 2020	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user chronf1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0670 -	Total						\$0.00	
0690	SLAB ON STEEL	Material		9	Jun 16, 2020	SYSTEM	(\$62,300.00)	
				9	Jun 16, 2020	SYSTEM	\$62,300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0690 -	Total						\$0.00	
0770	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	Material		9	Jun 16, 2020	SYSTEM	(\$10,400.00)	
				9	Jun 16, 2020	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user chronf1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0770 -	Total						\$0.00	
0880	POROUS BACKFILL	Overrun	Overrun	8	Jun 2, 2020	SYSTEM	(\$1,530.00)	
				8	Jun 2, 2020	SYSTEM	\$1,530.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user chronf1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	(\$1,530.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Jun 16, 2020	SYSTEM	\$1,530.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0880 -	Total						\$0.00	
0900	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		6	May 4, 2020	SYSTEM	(\$690.00)	
				6	May 5, 2020	SYSTEM	\$690.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0900 -	Total						\$0.00	



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0910	MISC. TYPE 1 OR TYPE 5 AGGR BASE	Material		6	May 4, 2020	SYSTEM	(\$1,619.52)	
				6	May 5, 2020	SYSTEM	\$1,619.52	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0910 -	Total						\$0.00	
0920	GRAVEL (A) OR CRUSHED STONE (B)	Material		6	May 4, 2020	SYSTEM	(\$2,695.00)	
				6	May 5, 2020	SYSTEM	\$2,695.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0920 -	Total						\$0.00	
0930	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Material		6	May 4, 2020	SYSTEM	(\$26,910.00)	
				6	May 5, 2020	SYSTEM	\$26,910.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$26,910.00)	
				7	May 19, 2020	SYSTEM	\$26,910.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Other Item Adjustment	ACAD	6	May 5, 2020	chronf1	\$68.77	ACAD for 299 Tons of BB17-41.
				9	Jun 16, 2020	chronf1	(\$546.74)	ACAD for 211.3 Tons of BB17-41.
			ACAD - Tota	al			(\$477.97)	
	Other Item Adjustment - Total						(\$477.97)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Overrun	Overrun		Jun 16, 2020		(\$10,017.00)	
				9	Jun 16, 2020	SYSTEM	\$9,081.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				9	Jun 16, 2020	SYSTEM	\$936.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0930 -	Total						(\$477.97)	
0940	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		6	May 4, 2020	SYSTEM	(\$4,725.00)	
				6	May 5, 2020	SYSTEM	\$4,725.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user chronf1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$4,725.00)	
				7		SYSTEM SYSTEM	(\$4,725.00) \$4,725.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total		2020 May 19,			Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 2 on the current



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0940	BITUMINOUS PAVEMENT MIXTURE	Other Item	Type	6	May 5,	chronf1	\$15.23	ACAD for 52.5 Tons of SL20-25.
	PG64-22 (SURFACE LEVELING)	Adjustment		9	2020 Jun 16,	chronf1	(\$144.86)	ACAD for 44.4 Tons of SL20-25.
					2020	of the second se		
			ACAD - Tota	al			(\$129.63)	
	Other Item Adjustment - Total						(\$129.63)	
0940 -	Total						(\$129.63)	
0950	TACK COAT	Material		6	May 4, 2020	SYSTEM	(\$451.50)	
				6	May 5, 2020	SYSTEM	\$451.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0950 -	Total						\$0.00	
1020	CONSTRUCTION SIGNS	Material		2	Mar 2, 2020	SYSTEM	(\$1,328.00)	
				2	Mar 2, 2020	SYSTEM	\$1,328.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1020 -	Total						\$0.00	
1030	ADVANCED WARNING RAIL SYSTEM	Material		2	Mar 2, 2020	SYSTEM	(\$280.00)	
				2	Mar 2, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				3	Mar 17, 2020	SYSTEM	(\$280.00)	
			- Total				(\$280.00)	
	Material - Total						(\$280.00)	
	ADVANCED WARNING RAIL SYSTEM	MaterialCredit		4	Apr 2, 2020	SYSTEM	\$280.00	
			- Total				\$280.00	
	MaterialCredit - Total						\$280.00	
1030 -	Total						\$0.00	
1040	FLAG ASSEMBLY	Material		2	Mar 2, 2020	SYSTEM	(\$80.00)	
				2	Mar 2, 2020	SYSTEM	\$80.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1040 -	Total						\$0.00	
1050	TYPE III MOVEABLE BARRICADE	Overrun	Overrun	3	Mar 17, 2020	SYSTEM	(\$750.00)	
				3	Mar 17, 2020	SYSTEM	\$750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1050 -	Total						\$0.00	
	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE,	Material		2	Mar 2, 2020	SYSTEM	(\$6,000.00)	
	CONTRACTOR FURNISHED, CONTRACTOR RETAINED			2	Mar 2, 2020	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user chronf1 overridding Payment Estimate Exception 7 on the current



IP37 Characterization descent set of the set o	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
	1070		Material						Payment Estimate.		
Method Concentration Concentratindation Concentratindation Conc		CONTRACTOR FURNISHED,			3		SYSTEM	(\$6,000.00)			
Construction MassaCell 4 Apr. 2 SYSTEN \$8.0000 CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED CONTRACTOR FURNISHED PAULIEST MARKOR PART. TYPE P Allushimit 0118 9 Auto 10, 0000 64.000.00 0000 4 N. WHITE STANDARD WATERBORNE PAULIEST MARKOR PART. TYPE P ALLUSH Other Funnished Contractor Funnished PAULIEST MARKOR PART. TYPE P ALLUSH Other Funnished Contractor Funnished PAULIEST MARKOR PART. TYPE P BLOOD PAULIEST MARKOR PART. TOTAL Other Funnished PAULIEST MARKOR PART. TYPE P BLOOD PAULIEST PAULIEST PAULIES				- Total				(\$6,000.00)			
COMMUNICARNIN INTERACE, CONTINUETOR INTERNAL Continue internal Continternal Continue internal Conti		Material - Total						(\$6,000.00)			
Material/radii + Total 100 - 100 100 - 100 100 - 100 100 - 100 0 0 - 010 0 - 010 0 - 010 0 - 0100 0 - 0100 <th 010<="" colspan="2" td=""><td></td><td>COMMUNICATION INTERFACE, CONTRACTOR FURNISHED,</td><td>MaterialCredit</td><td></td><td>4</td><td></td><td>SYSTEM</td><td>\$6,000.00</td><td></td></th>	<td></td> <td>COMMUNICATION INTERFACE, CONTRACTOR FURNISHED,</td> <td>MaterialCredit</td> <td></td> <td>4</td> <td></td> <td>SYSTEM</td> <td>\$6,000.00</td> <td></td>			COMMUNICATION INTERFACE, CONTRACTOR FURNISHED,	MaterialCredit		4		SYSTEM	\$6,000.00	
1070 Total 10.00 PACHER STANDARD WATERDORE PROVEMENT MARGING PAIL BEADS Other line (bigathere) Other line (bigat				- Total				\$6,000.00			
100 11 VHTER 57M 0400 WATERBORNE BEAD Other ham BEAD OTHE 7 all OTHE 7 all Other ham BEAD Other ham BEAD Other ham BEAD OTHE 7 all OTHE 7 all Other ham BEAD Other ham Adjustment of hat be criginal system generated Overunt Payment simulation in the satingte pending reformerhead/Wither Payment simula		MaterialCredit - Total						\$6,000.00			
PAVENENT MARKING PAINT, TYPEF BEADS Adjustment (1) Adjustment (1) <td>1070 -</td> <td>Total</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$0.00</td> <td></td>	1070 -	Total						\$0.00			
Other Item Adjustment - Total Overun 0 Jun 16, 2 SYSTEM 61,666.50 41M, WHTE STANDARD WATERBORN PAVEMENT MARING PAIT. TYPE F BEDDS Overun 0 Jun 16, 2 SYSTEM 61,666.50 0 Jun 16, 2 SYSTEM 51,931.00 Phi adjustment officits the original system-generated Overun Payment Estimate. Hen Adjustment (0001) due to use ourour Payment Estimate. The adjustment officits the original system-generated Overun Payment Estimate. 1000 - Total Overun - Total 0 Overun - Total 50.00 100 - Total 0 MATERBORNE PAVEMENT MARING PAINT, TYPE P BEADS Overun - Total 0 String for payment estimate. 100 - Total 4 IN YELLOW STANDARD PAINT, TYPE P BEADS Overun - Total (\$486.50) String for payment estimate pending netoreeflectivity resits. 100 - Total Overun - Total 0 Jun 16, 2020 String for payment estimate base for payment	1090	PAVEMENT MARKING PAINT, TYPE P		OTHR	9		chronf1	(\$1,606.50)			
4 N. WHTE STANDARD WATERBORNE Ownun 0 Jun 16, 2020 SYSTEM (61.343.00) 100 - Total 0 2020 SYSTEM \$1.343.00 The adjutament diffest the original system-generated Overrun Payment Estimate Council or System 100 - Total 0 0 2020 SYSTEM \$1.343.00 The adjutament diffest the original system-generated Overrun Payment Estimate Council or System 100 - Total 0 0 0 0.00 0 State				OTHR - Tota	al			(\$1,606.50)			
PAVEMENT MARKING PAUT, TYPE P BEAD P 2020 P<		Other Item Adjustment - Total						(\$1,606.50)			
Image: Control of the second of th		PAVEMENT MARKING PAINT, TYPE P	Overrun	Overrun				(\$1,343.00)			
Overrun - Total Statu					9		SYSTEM	\$1,343.00	Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 11 on the current		
1040 Total (\$1.60.53) 1100 4 IN VELLOW STANDARD PAINT, TYPE P BEADS Other Item (dijustment PAINT, TYPE P BEADS Other Item (dijustment - Total OTHR - Total (\$346.50) Other Item Adjustment - Total 0 - (\$346.50) Payment Estimate Item Adjustment of faste He original system generated Owman Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0000) dis to user chord for overriding Payment Estimate Item Adjustment (0001) due to user chord for overriding Payment Estimate Item Adjustment (0001) due to user chord for overriding Payment Estimate Item Adjustment (0001) due to user chord for overriding Payment Estimate Item Adjustment (0001) due to user chord for overriding Payment Estimate Item Adjustment (0001) due to user chord for payment Estimate Item Adjustment (0001) due to user chord for overriding Payment Item Adjustment (0001) due to user chord for payment Estimate Item Adjustment (0001) due to user chord for payment Estimate Item Adjustment (0001) due to user chord for payment Estimate Item Adjustment (0001) due to user chord for payment Estimate Item Adjustment offste He original system generated Overrun Payment Estimate Item Adjustment for the original system generated Overrun Payment Estimate Item Adjustment for adjustor overrun Payment Estimate Item				Overrun - To	otal			\$0.00			
110 4 IN VELLOW STANDARD WATERBORNE PAVESURT MARKING PAINT, TYPE P BEAS Other Item Adjustment 0THR 9 Jun 16, 2020 chrontfi (\$946.50) 50% of payment withheid on this estimate pending retoreflectivity results. 0 0 THR - Total 0THR - Total (\$946.50) 0 (\$946.50) 0 0 THR - Total (\$946.50) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 100 0 0 0 0 0 0 0 0 110 24 IN PIPE GROUP C Material 5 Apr 15, 2020 SYSTEM \$0.00 0 0 110 24 IN PIPE GROUP C Material 0 0 0 0		Overrun - Total						\$0.00			
WATERBORNE PAVENERT MARKING PAINT, TYPE P BEADS Adjustment (000000000000000000000000000000000000	1090 -	Total						(\$1,606.50)			
Other Item Adjustment - Total Overrun 9 Jun 16, 2000 SYSTEM (\$946.50) WATERBORNE VREMTMARKIN PAINT, TYPE P BEADS 9 Jun 16, 2000 9 SYSTEM (\$805.00) 0 9 Jun 16, 2000 SYSTEM \$805.00 This adjustment offsets the original system-generated Overrun Payment Estimate Exception 12 on the current Payment Estimate Exception 20 on the current Payment Estimate Exception 20 on the current Payment Estimate Exception 9 1100 - Total 5 Apr 15, 2020 SYSTEM (\$3.080.00) 1100 - Total 5 Apr 15, 2020 SYSTEM (\$3.080.00) 1100 - Total 5 Apr 15, 2020 SYSTEM (\$1.600.00) 1100 - Total - Total 50.00 This adjustment offsets the original system-generated Overrun Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate Exception 20 on the current Payment Estimate Item Adjustment (0001) due to user chronth overriding Payment	1100	WATERBORNE PAVEMENT MARKING		OTHR	9		chronf1	(\$946.50)			
4 IN, VELLOW STANDARD PAVEMENT MARKING PAINT, TYPE P BEADS Overrun 9 Jun 16, 2020 SYSTEM (\$805.00) 9 Jun 20, 2020 SYSTEM \$805.00 This adjustment offsets the original system-generated Overrun Payment Estimate tem Adjustment (0002) due to user chronf 1 overrid/ding Payment Estimate Exception 12 on the current Payment Estimate tem Adjustment (0002) due to user chronf 1 overrid/ding Payment Estimate Exception 12 on the current Payment Estimate tem Adjustment (0002) due to user chronf 1 overrid/ding Payment Estimate Exception 9 on the current Payment Estimate tem Adjustment (0001) due to user chronf 1 overrid/ding Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the								(\$946.50)			
WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS Image: marking paint for the adjustment offsets the original system-generated over our off payment Estimate Item Adjustment (0002) due to user chronfl payment Estimate Escoption 9 on the current Payment Estimate Estimate Estimate Escoption 9 on the current Payment Estimate Estimate Escoption 9 on the current Payment Estimate Estimate Escoption 9 on the current Payment Estimate Escoption 9 on the cu		Other Item Adjustment - Total						(\$946.50)			
Image: state sta		WATERBORNE PAVEMENT MARKING	Overrun	Overrun		2020		(\$805.00)			
Overrun - Total \$0.00 1100 - Total (\$946.50) 1150 24 IN. PIPE GROUP C Material 5 Apr 15, 2020 SYSTEM (\$3,080.00) 1150 24 IN. PIPE GROUP C Material 5 Apr 15, 2020 SYSTEM \$3,080.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Exception 9 on the current Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Exception 20 on the current Payment Estimate Exception 20 on the current Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0001) due to user chronfl overridding Payment Estimate Item Adjustment (0003) due to user chronfl overridding Payment Estimate Item Adjustment (0003) due to user chronfl overridding Payment Estimate Item Adjustment (0003) due to user chronfl overridding Payment Estimate Item Adjustment (0003) due to user chronfl overridding Payment Estimate Item Adjustment (0003) due to user chronfl overridding Payment Estim					9		SYSTEM	\$805.00	Payment Estimate Item Adjustment (0002) due to user chronf1 overridding Payment Estimate Exception 12 on the current		
1100 - Total (\$946.50) 1150 24 IN. PIPE GROUP C Material 5 Apr 15, 2020 SYSTEM (\$3,080.00) 5 Apr 15, 2020 SYSTEM \$3,080.00 This adjustment offsets the original system-generated Overrun Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate Material - Total Source Querrun - Total				Overrun - To	otal		\$0.00				
1150 24 IN. PIPE GROUP C Material 5 Apr 15, 2020 SYSTEM (\$3,080.00) This adjustment offsets the original system-generated Overrun Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate - Total - Total SO.00 Material - Total - Total SO.00 Material - Total - Total SYSTEM S0.00 Z4 IN. PIPE GROUP C Overrun SUP SUP SUP Z4 IN. PIPE GROUP C Overrun SUP SUP SUP 24 IN. PIPE GROUP C Overrun SUP SUP SUP S2020 SUP SUP SUP SUP S2020 SUP SUP		Overrun - Total						\$0.00			
image: state in the state i	1100 -	Total						(\$946.50)			
Image: Constraint of the image: Constrai	1150	24 IN. PIPE GROUP C	Material		5		SYSTEM	(\$3,080.00)			
Material - Total Stop 24 IN. PIPE GROUP C Overrun 0 SYSTEM (\$1,650.00) 24 IN. PIPE GROUP C Overrun 8 Jun 2, 2020 SYSTEM \$1,650.00 8 Jun 2, 2020 SYSTEM \$1,650.00 Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 20 on the current Payment Estimate Exception 20 on the current Payment Estimate Solution (if non-zero). 9 Jun 16, 2020 SYSTEM \$1,650.00 Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). 9 Jun 16, 2020 SYSTEM \$1,650.00 Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). 9 Jun 16, 2020 SYSTEM \$1,650.00 This adjustment offsets the original system-generated Overrun Payment Estimate. Overrun - Total System \$1,650.00 This adjustment form this item on all previous payment Estimate. Overrun - Total System \$1,650.00 Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate. Overrun - Total \$0.00 System \$1,650.00 Payment Estimate.					5		SYSTEM	\$3,080.00	Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 9 on the current		
24 IN. PIPE GROUP C Overrun 8 Jun 2, 2020 SYSTEM (\$1,650.00) 8 Jun 2, 2020 SYSTEM \$1,650.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 20 on the current Payment Estimate. 9 Jun 16, 2020 SYSTEM \$1,650.00 Averaged Price Adjustment from this item on all previous payment Estimates. 9 Jun 16, 2020 SYSTEM \$1,650.00 This adjustment offsets the original system-generated Overrun Payment Estimate. 9 Jun 16, 2020 SYSTEM \$1,650.00 Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). 9 Jun 16, 2020 SYSTEM \$1,650.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate. Overrun - Total		- Total						\$0.00			
Image: Second		Material - Total						\$0.00			
Overrun - Total Overrun - Total 2020 Image: Signature state st		24 IN. PIPE GROUP C	Overrun	Overrun	8		SYSTEM	(\$1,650.00)			
Overrun - Total 2020 2020 payment estimates of '0.00000' is applied (if non-zero). 9 Jun 16, 2020 SYSTEM \$1,650.00 This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate. Overrun - Total Image: Comparison of the current Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate.					8		SYSTEM	\$1,650.00	Payment Estimate Item Adjustment (0001) due to user chronf1 overridding Payment Estimate Exception 20 on the current		
2020 Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate. Overrun - Total \$0.00					9		SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		
Overrun - Total \$0.00					9		SYSTEM	\$1,650.00	Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 13 on the current		
		Overrun - Total						\$0.00			
1150 - Total \$0.00		Overrun - Total						\$0.00			
	1150 -	Total						\$0.00			



1160 - Tota 1170	terial - Total al SEEDING - COOL SEASON MIXTURES terial - Total al	Material	- Total	5 5 6 6 7 7	Apr 15, 2020 Apr 15, 2020 May 4, 2020 May 5, 2020 May 19, 2020 May 19,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,064.00) \$10,064.00 \$0.00 \$0.00 (\$975.00 \$975.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user chronf1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
1160 - Tota 1170 Mat 1170 - Tota	al SEEDING - COOL SEASON MIXTURES terial - Total al	Material		6 6 7	2020 May 4, 2020 May 5, 2020 May 19, 2020	SYSTEM	\$0.00 \$0.00 \$0.00 (\$975.00)	Payment Estimate Item Adjustment (0002) due to user chronf1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
1160 - Tota 1170 Mat 1170 - Tota	al SEEDING - COOL SEASON MIXTURES terial - Total al	Material		6 7	2020 May 5, 2020 May 19, 2020	SYSTEM	\$0.00 \$0.00 (\$975.00)	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 14 on the current
1160 - Tota 1170 Mat 1170 - Tota	al SEEDING - COOL SEASON MIXTURES terial - Total al	Material	Total	6 7	2020 May 5, 2020 May 19, 2020	SYSTEM	\$0.00 (\$975.00)	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 14 on the current
1170 Mat 1170 - Tota	SEEDING - COOL SEASON MIXTURES terial - Total al	Material	Total	6 7	2020 May 5, 2020 May 19, 2020	SYSTEM	(\$975.00)	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 14 on the current
Mat 1170 - Tota	terial - Total al	Material	Total	6 7	2020 May 5, 2020 May 19, 2020	SYSTEM	. ,	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 14 on the current
1170 - Tota	al		Total	7	2020 May 19, 2020		\$975.00	Payment Estimate Item Adjustment (0012) due to user chronf1 overridding Payment Estimate Exception 14 on the current
1170 - Tota	al		Total		2020	SYSTEM		
1170 - Tota	al		Total	7	May 19		(\$975.00)	
1170 - Tota	al		Total		2020	SYSTEM	\$975.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
1170 - Tota	al		- Total				\$0.00	
							\$0.00	
1220	TYPE C BERM						\$0.00	
		Material		6	May 4, 2020	SYSTEM	(\$513.50)	
				6	May 5, 2020	SYSTEM	\$513.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user chronf1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$513.50)	
				7	May 19, 2020	SYSTEM	\$513.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user chronf1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
Mat	terial - Total						\$0.00	
1220 - Tota	al						\$0.00	
1230	2 IN. PSST POST - 12 GA.	Material		6	May 4, 2020	SYSTEM	(\$504.00)	
				6	May 5, 2020	SYSTEM	\$504.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user chronf1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$504.00)	
				7	May 19, 2020	SYSTEM	\$504.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user chronf1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			- Total				\$0.00	
Mat	terial - Total						\$0.00	
1230 - Tota	al						\$0.00	
1240 P	OST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		6	May 4, 2020	SYSTEM	(\$504.00)	
				6	May 5, 2020	SYSTEM	\$504.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user chronf1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$504.00)	
				7	May 19, 2020	SYSTEM	\$504.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user chronf1 overridding Payment Estimate Exception 15 on the current
								Payment Estimate.



	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1240	Material - Total						\$0.00	
1240 -	- Total						\$0.00	
1250	SH-FLAT SHEET	Material		6	May 4, 2020	SYSTEM	(\$324.00)	
				6	May 5, 2020	SYSTEM	\$324.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user chronf1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$324.00)	
				7	May 19, 2020	SYSTEM	\$324.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user chronf1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
1250 -	Total						\$0.00	
1260	SHF-FLAT SHEET FLUORESCENT	Material		6	May 4, 2020	SYSTEM	(\$648.00)	
				6	May 5, 2020	SYSTEM	\$648.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user chronf1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				7	May 19, 2020	SYSTEM	(\$648.00)	
				7	May 19, 2020	SYSTEM	\$648.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user chronf1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1260 -	- Total						\$0.00	
1270	CLASS 1 EXCAVATION	Overrun	Overrun	7	May 19, 2020	SYSTEM	(\$750.00)	
				7	May 19, 2020	SYSTEM	\$750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total		Overrun - T	otal			\$0.00 \$0.00	
1270 -	Overrun - Total Total		Overrun - T	otal				
1270 - 1290	Total BRIDGE APPROACH SLAB (MINOR	Other Item Adjustment	ACAD	9	Jun 16, 2020	chronf1	\$0.00 \$0.00 (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25).
	Total BRIDGE APPROACH SLAB (MINOR ROAD)			9		chronf1	\$0.00 \$0.00 (\$193.68) (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25).
1290	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total		ACAD	9		chronf1	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25).
1290	Total BRIDGE APPROACH SLAB (MINOR ROAD)		ACAD	9		chronf1	\$0.00 \$0.00 (\$193.68) (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25).
1290	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total		ACAD	9 al		SYSTEM	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25).
1290 1290 -	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total Total GALVANIZED CAST-IN-PLACE	Adjustment	ACAD	9 al	2020 May 4,		\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68) (\$193.68)	ACAD for 111 SY (BB17-41 and SL20-25). ACAD for 111 SY (BB17-41 and SL20-25). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
1290 1290 -	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total Total GALVANIZED CAST-IN-PLACE	Adjustment	ACAD	9 al	2020 May 4, 2020 May 5,	SYSTEM	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$38,040.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 8 on the current
1290 1290 -	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total Total GALVANIZED CAST-IN-PLACE	Adjustment	ACAD	9 al 6 6	2020 May 4, 2020 May 5, 2020 May 19,	SYSTEM	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$38,040.00) \$38,040.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 8 on the current
1290 1290 -	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total Total GALVANIZED CAST-IN-PLACE	Adjustment	ACAD	9 al 6 6 7	2020 May 4, 2020 May 5, 2020 May 19, 2020 May 19,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$38,040.00) \$38,040.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 4 on the current
1290 1290 -	Total BRIDGE APPROACH SLAB (MINOR ROAD) Other Item Adjustment - Total Total GALVANIZED CAST-IN-PLACE	Adjustment	ACAD	9 al 6 6 7 7	2020 May 4, 2020 May 5, 2020 May 19, 2020 May 19, 2020 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$193.68) (\$38,040.00) \$38,040.00) \$38,040.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 4 on the current



1300 Material - Total S0.00 GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN) Adjustment Other Item Adjustment OTHR 6 May 5, 2020 chronf1 \$3,840.00 This is payment for the splices on Bent 1 and Be BAF/splice = 8LF. Total: 32LF x \$120LF = \$3,84 Other Item Adjustment - Total Other Item Adjustment - Total 0 \$3,840.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0020) overnu GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN) Overrun 6 May 4, 2020 SYSTEM \$14,520.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0020) overnu Estimate Exception 24 on the current Payment E simate Exception 24 on the current Payment E simate Exception 19 on the current Payment E simate Exception 5 on th Payment Estimate Exception 5 on th Payment Es	Bent 2: 1 splice x 840. Inerated Overrun rridding Payment t Estimate. Ill previous on-zero). Inerated Overrun rridding Payment t Estimate. Ill previous on-zero). Inerated Overrun rridding Payment t Estimate.
Image: Concrete Piles (14 IN) Adjustment Total 2020 Ad748 Bent 1: 3 epices x BLF / Epile = 24LF. Be BLF / Solid = 7.014: 32LF x St20LF = 33.44 Other Item Adjustment - Total OUTHR - Total S3.840.00 SYSTEM S14.520.00 This adjustment offsets the original system-gene Peyment Estimate Item Adjustment (0002) over restimate Exception 24 on the current Payment Estimate Item Adjustment (0002) over restimate Exception 24 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 24 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 24 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 24 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 24 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Item Adjustment (0002) over restimate Escoption 19 on the current Payment Estimate Item Adjustment (0002) over restimate Item Adjustment Item Adjustment Item Adjustment Item Adjustment (0000)	Bent 2: 1 splice x 840. Inerated Overrun rridding Payment t Estimate. Ill previous on-zero). Inerated Overrun rridding Payment t Estimate. Ill previous on-zero). Inerated Overrun rridding Payment t Estimate.
Other Item Adjustment - Total S3,840.00 GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN) Overrun 6 May 4, 2020 SYSTEM \$14,520.00 This adjustment offsets the original system-gene Estimate tex exption 24 on the current Payment E 6 May 4, 2020 SYSTEM \$14,520.00 Averaged Price Adjustment from this item on all payment estimate tex Adjustment for002) overrin Estimate tex exption 24 on the current Payment E 7 May 10, 2020 SYSTEM \$14,520.00 Averaged Price Adjustment from this item on all payment estimate tex Adjustment offoots the original system-gene Payment Estimate tex Adjustment (0019) due to verridding Payment Estimate tex Adjustment (0019) due to Payment Estimate tex Adjustment offsets the original system-gene Payment Estimate tex Adj	rridding Payment Estimate. Il previous on-zero). nerated Overrun rridding Payment Estimate.
ALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN) Overrun Overrun 6 May 4, 2020 SYSTEM \$14,520.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (002) overris Estimate Item Adjustment (002) overris Estimate Item Adjustment (002) overris Estimate Item Adjustment (002) overris Estimate Item Adjustment form this item on all payment estimates of '0.0000' is applied (1 non all 2020) 7 May 10, 2020 SYSTEM \$14,520.00 Averaged Price Adjustment form this item on all payment estimates of '0.0000' is applied (1 non all 2020) Overrun - Total Overrun - Total Overrun - Total System Site Colspan="4">System Site Colspan= 4"	rridding Payment Estimate. Il previous on-zero). nerated Overrun rridding Payment Estimate.
CONCRETE PILES (14 IN) CONCRETE PILES (14 IN) Payment Estimate Item Adjustment (002) over Estimate Exception 24 on the current Payment Estimate Exception 24 on the current Payment Estimate Exception 24 on the current Payment Estimate Solution (14, 520, 00) Payment Estimate Solution (14, 520, 00) Payment Estimate Solution (14, 520, 00) Payment Estimate Exception 19 on the current Payment Estimate Exception 50 on the payment Estimate Esception 50 on the payment Estimate Escep	rridding Payment Estimate. Il previous on-zero). nerated Overrun rridding Payment Estimate.
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	non-zero). nerated Overrun erridding Payment I Estimate. nerated Overrun to user chronf1
Image: state	non-zero). nerated Overrun erridding Payment I Estimate. nerated Overrun to user chronf1
$\frac{\left \begin{array}{c c c c c c c c c c c c c c c c c c c$	rridding Payment Estimate.
Overrun - Total Solution Sol	e to user chronf1
1300 - Total \$3,840.00 1320 CLASS B CONCRETE (SUBSTRUCTURE) Material 7 May 19, 2020 SYSTEM (\$30,380.00) This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0019) due to overridding Payment Estimate Exception 5 on the Payment Estimate. Image: tem and te	e to user chronf1
$\begin{array}{ c c c c c } \hline 1320 \\ 1320 \\ 1320 \\ \hline 1320 \\ \hline 1320 \\ \hline 1320 \\ \hline 1330 \\ \hline 1320 \\ \hline 1330 \\ \hline 1320 \\ \hline 1330 \\$	e to user chronf1
Image: state of the state o	e to user chronf1
Image: state with the state with t	e to user chronf1
Material - Total S0.00 1320 - Total \$0.00 1330 SAFETY BARRIER CURB Material \$100 - 2020	
1320 - Total \$0.00 1330 SAFETY BARRIER CURB Material 8 Jun 2, 2020 SYSTEM (\$13,900.00) 100 8 Jun 2, 2020 SYSTEM \$13,900.00 This adjustment offsets the original system-gene	
1330 SAFETY BARRIER CURB Material 8 Jun 2, 2020 SYSTEM (\$13,900.00) 8 Jun 2, 3020 SYSTEM \$13,900.00 This adjustment offsets the original system-gene	
2020 SYSTEM \$13,900.00 This adjustment offsets the original system-gene	
2020 Payment Estimate Item Adjustment (0013) due to overridding Payment Estimate Exception 12 on th Payment Estimate.	e to user chronf1
9 Jun 16, 2020 SYSTEM (\$13,900.00)	
9 Jun 16, 2020 SYSTEM \$13,900.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0013) due to overridding Payment Estimate Exception 8 on the Payment Estimate.	e to user chronf1
- Total \$0.00	
Material - Total \$0.00	
1330 - Total \$0.00	
1340 SLAB ON CONCRETE BEAM Material 8 Jun 2, 2020 SYSTEM (\$66,600.00)	
8 Jun 2, 2020 SYSTEM \$66,600.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0014) due tro overridding Payment Estimate Exception 13 on the Payment Estimate.	e to user chronf1
- Total \$0.00	
Material - Total \$0.00	
1340 - Total \$0.00	
1410 BRIDGE APPROACH SLAB (MINOR Material ROAD) 7 May 19, 2020 SYSTEM (\$14,690.00)	
	e to user chronf1
ROAD) 2020 SYSTEM \$14,690.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0007) due to overridding Payment Estimate Exception 3 on the	e to user chronf1
ROAD) 2020 Nay 19, 2020 SYSTEM \$14,690.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0007) due to overridding Payment Estimate Exception 3 on the Payment Estimate.	e to user chronf1
ROAD) ROAD) 7 May 19, 2020 SYSTEM \$14,690.00 This adjustment offsets the original system-gene Payment Estimate Item Adjustment (0007) due to overridding Payment Estimate Exception 3 on the Payment Estimate. - Total	e to user chronf1
ROAD) ROAD) Image: Solution of the second seco	e to user chronf1



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1410 -	Total						\$17.52	
1420	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Material		4	Apr 2, 2020	SYSTEM	(\$44,280.00)	
				4	Apr 2, 2020	SYSTEM	\$44,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	Apr 15, 2020	SYSTEM	(\$44,280.00)	
				5	Apr 15, 2020	SYSTEM	\$44,280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user chronf1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	GALVANIZED CAST-IN-PLACE CONCRETE PILES (14 IN)	Other Item Adjustment	OTHR	4	Apr 2, 2020	chronf1	\$6,720.00	chronf1 This is payment for the splices on Bent 1 and Bent 2 on Br. A8802. Bent 1: 3 splices x 8LF/splice = 24LF. Bent 2: 4 splices x 8LF/splice = 32LF. Total: 56LF x \$120/LF = \$6,720
			OTHR - Tota	al			\$6,720.00	
	Other Item Adjustment - Total						\$6,720.00	
1420 -	Total						\$6,720.00	
1440	CLASS B CONCRETE (SUBSTRUCTURE)	Material		4	Apr 2, 2020	SYSTEM	(\$30,240.00)	
				4	Apr 2, 2020	SYSTEM	\$30,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				5	Apr 15, 2020	SYSTEM	(\$30,240.00)	
				5	Apr 15, 2020	SYSTEM	\$30,240.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user chronf1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1440 -	Total						\$0.00	
1450	SAFETY BARRIER CURB	Material		5	Apr 15, 2020		(\$11,235.00)	
				5	Apr 15, 2020	SYSTEM	\$11,235.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user chronf1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				6	May 4, 2020	SYSTEM	(\$11,235.00)	
				6	May 5, 2020	SYSTEM	\$11,235.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user chronf1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
1450 -	Total						\$0.00	
1460	SLAB ON CONCRETE BEAM	Material		4	Apr 2, 2020	SYSTEM	(\$66,600.00)	
				4	Apr 2, 2020	SYSTEM	\$66,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user chronf1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				5	Apr 15, 2020	SYSTEM	(\$70,200.00)	
				5	Apr 15, 2020	SYSTEM	\$70,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user chronf1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				6	May 4, 2020	SYSTEM	(\$70,200.00)	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1460	SLAB ON CONCRETE BEAM	Material		6	May 5, 2020	SYSTEM	\$70,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user chronf1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
1460	- Total						\$0.00	
Overa	all - Total				\$6,393.58			